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In the given figure, a circle is inscribed touching the sides of an equilateral triangle of side 25 cm. Find the area of
" the shaded region
A

B C

(i) 94.94 sg.cm (ii) 82.94 sgq.cm (iii) 106.94 sq.cm (iv) 109.94 sq.cm (v) 134.94 sg.cm

In the given figure, the circle circumscribes a rectangle with sides 18.00 cm and 12.00 cm. Find the area of the
" remaining portion other than the rectangle

(i) 124.71 sq.cm (ii) 165.71 sgq.cm (iii) 146.71 sq.cm (iv) 151.71 sq.cm (v) 157.71 sg.cm

3. In the given figure, the radius of the circle is 15 cm. Find the area of the minor sector

(i) 204.78 sgq.cm (ii) 172.78 sq.cm (iii) 176.78 sq.cm (iv) 151.78 sgq.cm (v) 182.78 sq.cm



4.

In the given figure, the radius of the circle is 5 cm. Find the area of the major sector

(i) 63.93 sg.cm (ii) 55.93 sq.cm (iii) 53.93 sgq.cm (iv) 58.93 sq.cm (v) 61.93 sq.cm

In the given figure ,PQRS is the diameter of the circle of radius 7.50 cm and PQ = QR = RS. Find the area of the

" shaded region

(i) 131.86 sg.cm (ii) 132.86 sq.cm (iii) 105.86 sq.cm (iv) 89.86 sq.cm (v) 117.86 sg.cm

In the given figure ,PQRS is the diameter of the circle of radius 1.50 cm and PQ = QR = RS. Find the perimeter of

" the shaded region

(i) 9.43 cm (ii) 11.43 cm (iii) 7.43 cm (iv) 8.43cm (v) 10.43 cm

In the given figure , ABCD is a trapezium. A quarter circle AEFD is removed from the trapezium. If AD = CD = 13

" and EB = 2.4, find the area of the remaining portion

D C

-
A F B

(i) 54.81 sqg.cm (ii) 51.81 sq.cm (iii) 48.81 sq.cm (iv) 46.81 sgq.cm (v) 56.81 sq.cm



In the given figure, ABCD is a square of side 11.00 cm . At the centre there is a circle with radius 2.75 cm and the
" same circle quadrants are at the four corners. Find the area of the shaded region.

D =
A B

(i) 70.46 sq.cm (ii) 78.46 sq.cm (iii)) 68.46 sq.cm (iv) 76.46 sq.cm (v) 73.46 sq.cm

In the given figure, ABCD is a square of side 10.00 cm . At the centre there is a circle with radius 2.50 cm and the
" same circle quadrants are at the four corners. Find the perimeter of the shaded region.

(o

(i) 46.43 cm (ii) 56.43 cm (iii) 54.43 cm (iv) 48.43 cm (v) 51.43 cm

In the given figure, ABCD is a square of side 13.00 cm and A, B, C, D are the centres of circular arcs, each of
" radius 6.50 cm. Find the area of the shaded region

D C

<

A B

(i) 33.21sg.cm (ii) 39.21 sq.cm (iii) 36.21 sgq.cm (iv) 31.21 sgq.cm (v) 41.21 sq.cm

In the given figure, ABCD is a square of side 6.00 cm and A, B, C, D are centres of circles which touch externally
" in pairs. Find the area of the shaded region

D

A B

(i) 105.86 sg.cm (ii) 97.86 sq.cm (iii)) 147.86 sq.cm (iv) 124.86 sq.cm (v) 120.86 sg.cm

12. In the given figure, BC = 10 cm and AB = 7 cm. Find the area of the shaded region

A

B C

(i) 82.07 sgq.cm (ii) 77.07 sg.cm (iii) 79.07 sgq.cm (iv) 85.07 sg.cm (v) 87.07 sq.cm



In the given figure, BC = 6 cm and AB = 7 cm. Find the perimeter of the shaded region

o

(i) 56.20cm (ii) 51.20 cm (iii) 46.20cm (iv) 54.20cm (v) 48.20 cm

In the below figure, AB is the diameter of a circle with center O and OA = 15.00 cm . Find the area of the shaded

14. .
region

/@

A
(i) 318.36 sg.cm (ii) 291.36 sq.cm (iii) 282.36 sq.cm (iv) 305.36 sgq.cm (v) 309.36 sq.cm

In the below figure, two circles with centers O and A touch internally at B. If OB = 10.00 cm and OA = 5 cm, find
" the area of the unshaded region

(i) 208.71 sg.cm (ii) 217.71 sq.cm (iii) 235.71 sq.cm (iv) 239.71 sgq.cm (v) 250.71 sq.cm

In the below figure, BPQA is a quadrant of a circle. AB = 14.00 cm and BC = 11 cm . Find the area of the shaded
" region
A

—14 cm —

211 cm —%:
B c

(i) 80.00 sgq.cm (ii) 74.00 sq.cm (iii) 82.00 sgq.cm (iv) 72.00 sq.cm (v) 77.00 sq.cm



In the below figure, BCPA is a quadrant of a circle. BC = 13.00 cm and CQA is a semicircle with CA as the

" diameter. Find the area of the shaded region

B o

P

m‘%n cm—= -

e _13cm—3 ©

(ii) 79.50 sq.cm (iii) 89.50 sgq.cm (iv) 81.50 sgq.cm (v) 87.50 sq.cm

(i) 84.50 sq.cm

18. In the given figure, the triangle inside the square is an isosceles triangle. Find the area of the shaded region

D C

&— 12,00 cm —=

£ 1200 cm—3,

(i) 72.00 sq.cm (ii) 67.00 sq.cm (iii) 75.00 sgq.cm (iv) 77.00 sgq.cm (v) 69.00 sq.cm

19. In the given figure, find the area of the shaded region
D C

&——1B00 cm ——

E—— 20,00 cm ——3p
(i) 202.00 sg.cm (ii) 194.00 sq.cm (iii) 167.00 sgq.cm (iv) 180.00 sqg.cm

20. In the given figure, find the area of the shaded region

D 55

15 ecm

30,00 cm

15¢ 15¢
A m m B

(i) 312.50 sg.cm (ii) 360.50 sq.cm (iii) 355.50 sq.cm (iv) 337.50 sgq.cm (v) 331.50 sq.cm



21. In the given figure, d = 12.00 cm is the diameter of the semi-circles. Find the area of the shaded region

e d ———3

(i) 226.29 sq.cm (ii) 248.29 sq.cm (iii) 198.29 sq.cm (iv) 212.29 sgq.cm (v) 229.29 sq.cm

22. In the given figure, find the area of the shaded region

E——1600 cm —

e ST

o 3200 cm
(i) 599.43 sq.cm (ii) 618.43 sq.cm (iii) 603.43 sq.cm (iv) 609.43 sgq.cm (v) 580.43 sq.cm

The given figure consists of four small semi-circles of equal radii and two big semi-circles of equal radii. The
23. radius of each big semi-circle is 12.00 cm which is the same as the diameter of the small semi-circle. Find the
area of the shaded region

(i) 474.57 sq.cm (ii) 445.57 sq.cm (iii) 454.57 sq.cm (iv) 452.57 sq.cm (v) 439.57 sg.cm



The given figure consists of two quarter circles each of radius 10.00 cm and four semi-circles each of radius 5.00

24.
cm. Find the area of the shaded region

(i) 134.14 sgq.cm (ii) 151.14 sq.cm (iii) 157.14 sq.cm (iv) 171.14 sgq.cm (v) 165.14 sq.cm

25. In the given figure, the width of the circular path is 5.00 m. Find the area of the shaded region

ke—— 18.00 m ——23

— 2400 M ————3;

(i) 416.29 sg.m (ii) 460.29 sgq.m (iii) 436.29 sq.m (iv) 461.29 sq.m (v) 444.29 sq.m

26. Find the area of the shaded region

a8
-w

19,00 c ——
(i) 72.36 sq.cm (ii) 82.36 sq.cm (iii) 77.36 sq.cm (iv) 80.36 sq.cm (v) 74.36 sq.cm

= 1%.00 cm

27. Find the area of the shaded region

)¢

1600 cm —%
(i) 78.21 sg.cm (ii) 70.21 sq.cm (iii) 72.21 sgq.cm (iv) 75.21 sg.cm (v) 80.21 sq.cm

1300 cm —»




28. Find the area of the shaded region

(i) 161.07 sgq.cm (ii) 159.07 sq.cm (iii) 144.07 sq.cm (iv) 177.07 sgq.cm (v) 183.07 sq.cm

29. In the given figure, BC = 6.00 cm. Find the area of the shaded region

12.00 cm é 12.00 cm

T

I |

(i) 397.29 sgq.cm (ii) 422.29 sq.cm (iii) 424.29 sq.cm (iv) 440.29 sgq.cm (v) 439.29 sq.cm

In the given figure, arcs of two concentric circles of radii 19.00 cm and 5.70 cm are drawn with center O. If £ZIOJ
= 50°, find the area of the shaded region

J

30.

@]

L

(i) 143.40 sg.cm (ii) 166.40 sq.cm (iii) 126.40 sq.cm (iv) 145.40 sg.cm (v) 127.40 sq.cm



In the given figure AABC is an equilateral triangle whose area is 62.35 sq.cm. With each vertex of the triangle as
31. center, a circle is drawn with radius equal to half the length of the side of the triangle . Find the area of the

shaded region

(i) 5.78 sgq.cm (ii) 6.78 sq.cm (iii)) 4.78 sq.cm (iv) 7.78 sq.cm (v) 3.78 sg.cm

32. In the given figure, ABCD is a square with side 18.00 cm. Find the area of the shaded region
D C

A B

(i) 201.14 sgq.cm (ii) 197.14 sq.cm (iii) 185.14 sq.cm (iv) 169.14 sgq.cm (v) 170.14 sq.cm

Find the area of the shaded region in the given figure common between the two quadrants of circles of radius

33.

10.00 cm each
10,00 cm
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(i) 62.14 sq.cm (ii) 60.14 sq.cm (iii) 54.14 sq.cm (iv) 52.14 sq.cm (v) 57.14 sq.cm
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